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2016 = =0l &k LB A JIEISEA BBESH

SN BALSY
HM: JoHEsAES
Sl HES XY CERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
sSZES 9,176,227 7,782,024 1,394,203
2 375,286
Jl 56,741
= 84,600
Al 8,659,600
NASAES 619,846 801,437 A 181,591
= 19,500
J| 56,741
& 20,000
Al 523,605
MG BHXA 619,846 801,437 A 181,591
= 19,500
J| 56,741
o= 20,000
Al 523,605
SHH2HER T A 58,394 74,620 N 16,226
201 et 9| 37,394 36,080 1,314
01 AR 22l ] 16,394 14,080 2,314
QAN EE=2 DM M 5,600,000& 5,600
Ox&d =38 sUE 40258 2¢
2,500,000& 2,500
Ot Ntz 8= HE 1,000, 000& 1,000
OSINEEEZ2 8 =5 1,700,000& 1,700
OZ20ltl&=d A OF2tet=2 3 AlY|
7,000 x6H *473| 1,974
OXAIDER 252X st 4|
7,000& x5H %523 1,820
O=zx=Z& - o|2el 23 & 22 M
1,000,000 1,000
OS2/ HE#AEA4+Z 100,000 ~8H 800
02 B32%H| 21,000 22,000 A 1,000
OEL2A ANESMFLE=x=2 4,000,000& 4,000
Otda&d XA L dUE 28 ERZ
17,000,000 17,000
202 o4 H| 8,000 9,000 A 1,000
01 2Ll 8,000 9,000 A 1,000
oolga o= 5 gl 3,500,000& 3,500
ORMtMEE A2 S 0| 3,500,000& 3,500
+AQAFZSEH LR S U] 1,000,000 1,000
203 R F & 8,000 9,500 A 1,500
03 AIZH =X 2 F X H| 8,000 9,500 A 1,500
OstFdES AIMHFRNAL2=XH| 8,000,000 8,000
206 M = 4l 4,000 4,000 0
01 X2 bl 4,000 4,000 0




EX: sH3Es
HM: JoHEsAES
Sl HES XY (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OHEg A S92 ARE RA(AFA2HSF,
M S) 4,000,000 4,000
301 LBt A= 1,000 1,000 0
11 JIEtE A2 1,000 1,000 0
Oty NE A 1,000,000 1,000
OfMESE8 2XXE 4,000 3,600 400
= 2,000
Al 2,000
301 LBt A= 4,000 3,600 400
= 2,000
Al 2,000
11 JIEtE A2 4,000 3,600 400
OMESE X XS At 4,000,000 4,000
= 2,000
Al 2,000
OFMESZ Tl oA 40,000 40,000 0
= 14,500
Al 25,500
201 et d| 7,000 7,000 0
01 AR 22l ] 7,000 7,000 0
OfRdl OtMs= & XA 7,000,000& 7,000
206 M = Hl 4,000 3,000 1,000
01 X2 H| 4,000 3,000 1,000
ORdotMs=E EIXHM 2L 4,000,000& 4,000
301 et A= 29,000 30,000 A 1,000
= 14,500
Al 14,500
11 J|EtE A2 29,000 30,000 A 1,000
OOtMESZE Tl AL 29,000,000 29,000
= 14,500
Al 14,500
SHHAIZ EOE 6,000 7,400 A 1,400
201 et d| 2,000 2,000 0
03 HAI2 HHI 2,000 2,000 0
Otz s 29 2,000,000& 2,000
301 et A= 4,000 5,400 A 1,400
09 SHAIAHI E A2 4,000 5,400 A 1,400
Ostzdna 89 4.,000,000& 4,000
OS2 ESAtY 18,600 18,200 400
201 et 5,200 5,200 0
02 B232%H| 5,200 5,200 0




2AM: B23ESH
B OBRLS
Het BATY SRED)
Y. o9 CHEAY - BAS il 2
OOtMSAE U2 5,200,000& 5,200
206 M= Hl 8,000 8,000 0
01 =8l 8,000 8,000 0
OOt == 3,000,000 3,000
OROIMESE JIsZalt 2HAY
5,000, 000& 5,000
301 L2 A=z 5,000 5,000 0
1MIIEELAS 5,000 5,000 0
OOMSE0l 8 sX2 NH=a3
5,000, 000& 5,000
405 THabH S| 400 0 400
01 XAt = ZFH S| 400 0 400
OOfMSAIZ X2 UlbIAolE 2L (1)
400,000& 400
ENEE EZIH& AL 246,732 262,060 A 15,328
101 1A dl 60,732 59,160 1,572
04012t 22 s 60,732 59,160 1,572
OEMEi Y & 25 22 A 21| 42,630
-Jlga 55,000 x2H +23L « 1204 & 30,360
k=L = 55,0003 2 4 5L« 124 & 5,940
=P 55,0003 x2E 121 & 1,320
- M ZG Al 80,0003 x2F 12 & 1,920
-wE 2 A 60,0003 x2H 121 & 1,440
-HAX+ 55,000 x2H x152 1,650
OEMdIH A2 Y 18,102
ez 46,0003 *23 « 1204 & 12,696
=5 46,0003 *4. 52 x 1204 & 2,484
-+ 46,0003 =120 & 552
-Z MG Al 80,000& 124 & 960
-~WSE2 A4l 60,0002 1201 & 720
PN = 46,0003 15 690
201 L2l 80,000 76,500 3,500
01 At 2t 2|l 22,000 24,000 A 2,000
O &l 20,000,000& 20,000
Omdlyed 24 < 2,000,000& 2,000
02 8323l 58,000 52,500 5,500
OEME Z Xt 2 S XIdl(20H) 12,000, 000& 12,000
OENZE 2 & Xt =Xl 3,000,000& 3,000
OEMdIH 2323 25,000,000& 25,000
OEMSIEH A& ZHl s XYl 10,000, 000& 10,000
OEnNE=Z S e 8,000,000 8,000




2N
X ZH -
L= B

el

S$ZESH
AASELES
HEE XY

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
202 (4] 2,000 1,800 200
01 2L Y] 2,000 1,800 200
OEMAIE =X Y] 2,000,000& 2,000
206 M=l 104,000 124,000 A 20,000
01 X2t 104,000 124,000 A 20,000
SSAD HHES =1 4,000,000 4,000
OMBZH & 2NN 7 100,000, 000& 100,000
ANAgMe AT 222 21,079 19,000 2,079
101 @124 18,085 16,000 2,085
04 JI2ZtH22XNHEE =+ 18,085 16,000 2,085
OXNAE M AT 22 o2 18,085
PAR=E=1 50,010& x663] *4H 13,203
-5 50,010& *133] x4H 2,601
PN 50,010& *33| x4H 601
-H M Z A 80,000& *33| x4H 960
—uNESEx= 60,000& *33| x4H 720
201 LEt2 A Y| 2,494 3,000 A 506
01 AP 22l Yl 2,494 3,000 A 506
O & E22 ME 1,500,000& 1,500
Ot N 2R X S A 7,000 *x2H x713] 994
206 TH 2 HI 500 0 500
01 M= bl 500 0 500
OXNHALMRAX A2l MEH 500,000 500
BATOIER QMES X 6,000 6,000 0
= 3,000
Al 3,000
301 Bt A= 6,000 6,000 0
= 3,000
Al 3,000
1M IIEtE &2 6,000 6,000 0
OEAIEOIE OlMdEIE X2 6,000,000& 6,000
= 3,000
Al 3,000
HAMHEEZ AIEE S4ItA A 2488 4,000 4,000 0
= 2,000
Al 2,000
301 dEtE A Z 4,000 4,000 0
= 2,000
Al 2,000
11 IIEtE A2 4,000 4,000 0
Oleleld ¢4 & =X (16Y)
4,000,000& 4,000




SN BAESD
M NHSBEES
Sl HES XY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 2,000
Al 2,000
FIN2R 401y S#FI=X2HyH 2 60,000 200,000 A 140,000
< 18,000
Al 42,000
307 glz2tol & 60,000 60,000 0
< 18,000
Al 42,000
02 (It HAMHEE 60,000 60,000 0
O=8 =40/g A2MA K& (13HA)
60,000,000& 60,000
< 18,000
Al 42,000
=dgEsaae 0/dEI 29 52,000 50,000 2,000
J| 52,000
207 & O & H| 52,000 50,000 2,000
J| 52,000
01 2284 52,000 50,000 2,000
O#Z2Y Sl AHAHE olHEI 24
52,000,000& 52,000
J| 52,000
SHQIAETEMH i, &2 2LIHE &9 4,741 3,757 984
J| 4,741
207 A RO 4,741 3,757 984
J| 4,741
01 284 4,741 3,757 984
O+EYsH 43 2UHY 89
4,740,380 4,741
J| 4,741
2AIA 2= 8,000 8,000 0
201 et 3,000 3,000 0
01 At 22l 3,000 3,000 0
ONEA: sMdE E22 MHE S
3,000,000& 3,000
206 M= Hl 5,000 5,000 0
01 MHZ 4l 5,000 5,000 0
OBAZEILEZ Y UM 25 858 UR2E
5,000,000& 5,000
EMOLZHOIOI 29 13,300 12,800 500
201 L4l 11,600 12,800 A1,200
01 At 22l 1,600 0 1,600
OEMOtItHIBl =S Xt A& XUSAXNS
1,600, 000& 1,600
03 &Ar2 I 10,000 12,800 A 2,800




AN EIESH
dM: NS ZES
Sl HES XY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OEMoratoiol 24 10,000, 000& 10,000
301 et a s 1,700 0 1,700
09 AL HI B &S 1,700 0 1,700
OEMOI2HOIBI == Xt EME S Atell A st
1,700,000& 1,700
MEiStE SR S22 27,000 22,000 5,000
201 L2l 1,000 1,000 0
01 At 22l 1,000 1,000 0
OMEH 2 22 WA 1,000,000 1,000
202 odl 1,000 1,000 0
01 S LHOIYI 1,000 1,000 0
OMENGHE SR ALY AtZ2el =& ol
1,000,000 1,000
401 AIEHI L 2 CHYI 25,000 20,000 5,000
01 A& HI 25,000 20,000 5,000
OMEISIE =SRAIY AEZ2(2ZFH])
25,000,000& 25,000
SIEHSEHE =8 27 EF 50,000 0 50,000
207 RO 50,000 0 50,000
01 A3 39l 50,000 0 50,000
OBIBHZN ALY A7 Y
50,000,000& 50,000
MEHHES 19,000 14,750 4,250
< 7,000
Al 12,000
MEfH Wt OFMAlIZS &l X 19,000 14,750 4,250
< 7,000
Al 12,000
MEfwet OrMAlE & X 19,000 14,750 4,250
< 7,000
Al 12,000
101 @14 dl 14,000 8,750 5,250
< 7,000
Al 7,000
04 JIZHHZ2XREES 14,000 8,750 5,250
OHXE HAZRY 2 14,000
-Jl2=2 1,027,950& *4H «2 504 & 10,280
< 5,140
Al 5,140
- 50,000& »4H » 113 2,200
< 1,100
Al 1,100
- 50,0003 x4H +23| 400




SN BAESD
Bu: MEHES
Chel: MEYH WS OFMAZ X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 200
Al 200
- HgAY| 80,000 »4H 204 & 640
< 320
Al 320
- WSE X 60,0003 x4H +204 & 480
= 240
Al 240
201 ¢4l 2,000 2,000 0
02 =224l 2,000 2,000 0
OMENH wet OFMAZSEXIAIY AIE&H 2X
=l 2,000,000 2,000
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
OMEIH et OFMAE TH=Z I 2,000,000& 2,000
405 RHoHE S HI 1,000 2,000 A 1,000
01 et EZFH S 1,000 2,000 A 1,000
OMEAH W OFHASEIXIAE A& P&
1,000, 000& 1,000
oy 22 704,886 979,220 N274,334
= 330,786
< 57,600
Al 316,500
oleg =& 85,000 40,000 45,000
= 22,500
< 18,450
Al 44,050
HoledE 5322 16,000 16,000 0
201 ¢er24l 16,000 16,000 0
02 =224l 16,000 16,000 0
omIgdZL2IH (Mg, sS4z, S
eldl 8) 8,000,000& 8,000
OSZ=ZEAHIZZZ A & |X2eltl
2,000,000& 2,000
O3dictsXtg KA 6,000,000& 6,000
o832 sX2el 24,000 24,000 0
< 7,200
Al 16,800
201 L2l 24,000 24,000 0
< 7,200
Al 16,800
02 =224l 24,000 24,000 0
OIId 532 |X22/(1h4)
24,000,000& 24,000
< 7,200
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45,000

45,000
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28,954
164,073
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386,054
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22 ALS(290H)
111,000, 000&
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111,000
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55,500
55,500

116,800

5,800
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SM: B

SHEES
M oy 22
SRl o2 HAA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 18,000
Al 7,200
01 It 2 AL B X 25,200 29,400 A 4,200
OM=AHU &X XA (3H)
25,200,000& 25,200
= 18,000
Al 7,200
BHEOtA H2EX dss A2l 9,598 9,620 A22
= 4,799
< 720
Al 4,079
307 g1+l & 9,598 9,620 N22
= 4,799
< 720
Al 4,079
02 It M AHEE 9,598 9,620 N22
OE&JI2t ZUEX S5 KX 22l(88M)
9,598,000 9,598
= 4,799
< 720
Al 4,079
ZIIHX 223 XN S HEAMS 2,000 1,500 500
402 RI2EX=201 M 2,000 1,500 500
02 RI2HCH & AFH HI 2,000 1,500 500
OXRJIHI Ex3 X2 2 Y|
2,000,000& 2,000
AT 2 H S0 A 1,490 1,430 60
< 745
Al 745
301 gt d= 1,490 1,430 60
< 745
Al 745
1MIIEBESS 1,490 1,430 60
OsdIs 2HMZ0AML(RS1Y)
1,490,000 1,490
= 745
Al 745
SdI0IE HalAeY 73,920 77,280 A 3,360
= 36,960
< 5,544
Al 31,416
403 A X EHHSH20IA 73,920 77,280 A 3,360
= 36,960
< 5,544
Al 31,416
02 I/ 2S0ICHet A== OH & A H 73,920 77,280 A 3,360




M BAES
M UIIE z2el
S HIIE HEAS (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O=dolE HMel K& At
3,360,000 +2201 = 73,920
= 36,960
< 5,544
Al 31,416
FHAEAHS SAMOtAT X 9,750 9,750 0
< 2,925
Al 6,825
206 M= Hl 9,750 9,750 0
< 2,925
Al 6,825
01 = Hl 9,750 9,750 0
OFLAHE AMOtAZ NF  1,300& *7,50004 9,750
< 2,925
Al 6,825
AZe Al SIE 2elamd 874 0 874
= 262
Al 612
201 L2l 874 0 874
= 262
Al 612
01 At 22l 874 0 874
O2dst AUWSIIE I AL (150 &)
874,000& 874
< 262
Al 612
HOIZ A3 7,768,935 5,921,137 1,847,798
= 25,000
Al 7,743,935
HIIEMel At 4,389,420 3,672,962 716,458
HIlZ2 BEHMelALY 3,098,592 2,903,060 195,532
201 LB-2d| 255,990 242,100 13,890
01 At 22l 26,500 26,500 0
O==staal 23 319 2 8% S HlsS
1,000,000& 1,000
Ogdilsta dARAS HALXZE
1,500, 000& 1,500
OMIIEEH(=elE) 222 & 2208 A
=S 8,000,000 8,000
OgZdstgs 2HHI(=EHE22S, 820!
St ME Z2d 8) 10,000, 000& 10,000
Ogtdilsla HAADE(HIR ) 7
5,000,000& 5,000
OMelst=xMelAld EE22 HMAE(EM S)
1,000,000& 1,000
02 3323l 229,490 215,600 13,890




EXN: sH3ES ]
Hz: HIIS I
2 HIISXEl ALY )
_ RE]
N HE - B9 (3H) - HEAY - BA=S Ol At o %@i HRE2
O3st&al SX2el (470 ) 25,000,000 25,000
OLHAEAXS SXI22lH(30) 70,000,000 70,000
O2a)|set EAXzx SA22d(50)
50,000,000 50,000
OtHDIAANPA SX2AH(BE222 S)
3,000,000& 3,000
oMDIeEEIIesx2 SA2eldl (1)
4,000,000& 4,000
QHIIZS2XelgME2E SHH| 2,500,000& 2,500
OZ2YEIIHIIZE Melt] 30,000,000 30,000
OMBHAFDHDIIZE Helbl 15,000,000 15,000
O&RZBL-HAHAX HEAH-Z HI 25,000,000 25,000
OMYII=ZNEE B2E2D HELM B2
600,000& 600
OMYID| s2Hss B2 g2
500,000& 500
OFESES2 2EXNY =XUHE EX AIEE
3,890,000& 3,890
202 044l 2,160 2,160 0
01 2L Y| 2,160 2,160 0]
OHJIZ2 s8&) 8 g2 2,160,000& 2,160
206 M = H| 145,900 144,000 1,900
01 X2 H| 145,900 144,000 1,900
OLHANZBHAXE B4 22 18,000,000 18,000
O=sd4dHIIE2 8220 HE 7,900,000& 7,900
OMHD| SHHSE HE 120,000,000 120,000
207 ) | 16,000 16,000 0
01 g EAY| 16,000 16,000 0
OHMETHIIES £=& SEHHESH ZEoted
16,000,000 16,000
301 et A= 5,542 5,300 242
09 SHAIAHI B A2 5,542 5,300 242
O&td0|ste A&X AS 100,000& *34H 3,400
O&td0|lstay nEeazaldl 7,000 x34H x93 2,142
307 2iz2tol & 2,673,000 2,493,000 180,000
05 QIZ2tRE 2 2,673,000 2,493,000 180,000
OZ2Z=3HaA 2e| QI2HAE 193,000,000 193,000
Od2t MEHII2 =H2E 294
2,480,000,000& 2,480,000
=T HIHE X BFAAFS 34,440 34,440 0
202 04d| 1,440 1,440 0
01 2L I 1,440 1,440 0




FN: BIESD
M HolE XFE
S HIISH™el At (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SEEET RN PEEEEEES
1,440,000 1,440
307 glz2tol & 33,000 33,000 0
05 RIZERI & 3 33,000 33,000 0
O=ECAHMEX XXM E=ES 23,000,000 23,000
O=dMEX HIISHL+=+2
10,000, 000& 10,000
LE=A24E 29 1,251,888 732,462 519,426
308 XXM SO A 1,251,888 732,462 519,426
07 IXNSHHARE = 1,251,888 732,462 519,426
OLdFZ9LA2AE 2IE2E3  1,251,888,000& 1,251,888
DEIFEFY NEF2Y 4,500 3,000 1,500
201 Let24E] 4,500 3,000 1,500
01 At 22l 1,500 0 1,500
OZgstda 23 et S Ml
1,500, 000& 1,500
02 232gHl 3,000 3,000 0
OZgs @ NEF2Y 3,000,000& 3,000
SZIIZ AL 2te 2,060,390 1,827,115 233,275
= 25,000
Al 2,035,390
MMy MEH 2o 110,000 111,900 A 1,900
= 12,500
Al 97,500
201 Let24d] 85,000 82,000 3,000
02 =24l 85,000 82,000 3,000
QasMy ) HaZ Al L SEH(ISE)=X
| 50,000,000& 50,000
OMEMYI| HBE 2R3 L 25 2482
S(Xotx=2 2 58 A= 3) 35,000
35,000, 000&
405 XHoHF S HI 25,000 0 25,000
= 12,500
Al 12,500
01 AL EZFH S 25,000 0 25,000
OMBHIIZ +E2UTY SXsH(LHE 28
ghA P 25,000,000& 25,000
= 12,500
Al 12,500
g284= Mell& 1,625,590 1,431,215 194,375
201 ¢er24| 402,330 257,230 145,100
01 At 22l 4,500 4,500 0




2H: BEESDY
M HIls NSt
el BAIFAL DL CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OSAZEEHIIZ2 SN A L 2 =22
M= 3,000,000 3,000
OtHDSA HdEXAS HALX =
1,500, 000& 1,500
02 324t 397,830 252,730 145,100
OSAZFHIIZ XNESANE B33 100,430
&= 93,000, 000& 93,000
-AlE §E A& ALl 2,000,000 2,000
-2 JI|HAE A A & 3,200,000& 3,200
-SOIAIE 4223 AtHI 1,350, 000& 1,350
-XAX ANHESE = 400, 000& 400
-H4) A= 480,000& 480
OSAZFRHIIZSXNES AlE € &dHl X4 297,400
-ZAEHE 7Y 60,000, 000& 60,000
-AZXI| HAatl 150,000, 000& 150,000
-XIHX HR 2 1,400,000& 1,400
-LPGOIA 2 ¢l 1,000, 000& 1,000
-SO0IAFE A2l 35,000, 000& 35,000
-AEE e M2 AAl 8,000,000 8,000
-2OoIAEAIAE 2 2,000,000& 2,000
-JIAH & AMO|A&d| 4=2ldl 40,000, 000& 40,000
202 04d| 3,000 2,400 600
01 2L Y] 3,000 2,400 600
SAMEFHIIE SHH 28 S bl
3,000,000 3,000
206 M = Hl 37,500 37,500 0
01 &2 bl 37,500 37,500 0
OSAMNERHIIZ M8 ZS2H SEMH
7,500,000 7,500
OSMERHIIZ BE4HSI| 7Y
15,000,000 15,000
OSAZFHIIZ NISAIE SR A2
2 15,000,000& 15,000
301 LBt A= 2,760 4,085 N 1,325
09 HAIAHIBEAZ 2,760 4,085 N 1,325
O&F0Iga &KX Ast 1,500
-100,000& *15H 1,500, 000& 1,500
OtH0Igd N34 7,000& *x15H x123] 1,260
307 212t0| & 1,080,000 980, 000 100,000
05 A2t E = 1,080,000 980, 000 100,000
OSAEZFHIIE 2U2AHAEKH 40,000, 000& 40,000
OSAEZHIIE =)L U2 E
950,000, 000& 950,000




A B2IESH
HH: Holg uas
A=A 2L CHe &2l

SA-E B (3H) - MBAY - BES ﬁlf& HDS2
OSAZEFHIZE EES(EMUME) 22AE A
dl 90,000, 000& 90,000
401 Al HI L 2 0HHI 100,000 150,000 A50,000
01 Al&H| 100,000 150,000 250,000
OSAZF]HIIZ XNESAIE JIH L &II&H|
2 2 A 100,000, 000& 100,000
Mes 488 XA 239,300 214,300 25,000
= 12,500
Al 226,800
201 Bt 145,300 145,300 0
01 At 22l ] 3,900 3,900 0
omMgasdgs A5 2 1,200,000& 1,200
OMEESE 221 22 M2 2,700,000& 2,700
02 352494l 141,400 141,400 0
OME2EHEE 2223(£222 S)X= 66,400
-&JI=2 56,000, 000& 56,000
-JlEt===2 5,400,000& 5,400
EPNE= =N 1,000,000& 1,000
-ANeEEE 4,000,000& 4,000
OMEasdagd Al & & KA 75,000
e (E)7Y 36,000, 000& 36,000
-XH &2l | 24,000, 000& 24,000
-MHEsHdEHE AMEZE 2 15,000,000& 15,000
206 T 24 27,000 27,000 0
01 XHZ Hl 27,000 27,000 0
ONMEE2EHEE ANEFA A2 2L 27,000
254 10,000, 000& 10,000
-DE A 5,000,000 5,000
-HE2 2,000,000 2,000
-MesE E 0t 5,000,000& 5,000
-J|Et 5,000,000 5,000
307 212t0| & 42,000 42,000 0
05 A2t E = 42,000 42,000 0
OMEE3HIIZ2 Q2 & Xelb]
42 ,000,000& 42,000
405 RHoHFE S HI 25,000 0 25,000
= 12,500
Al 12,500
01 JHAHY 2 Z 5 S H 25,000 0 25,000
OMEHIIZS SIS XS (LHE 4=
gEA )1 25,000, 000& 25,000
= 12,500
Al 12,500
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